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Section : General Intelligence and Reasoning

Q.1 o & o F & TR - TR g a1 € 3 o A vow F favie wew W g @
T &

PPPE
As X1 g

X2 4
X3 2
vi5

Question ID : 2390878747
Status : Answered
Chosen Option : 4

Q.2 Arrange the following words in a logical and meaningful order.

1.Metre
2.Decimetre
3.Millimetre
4.Hectometre
5.Centimetre

Ans X' 135241
/X 2.3,2,54,1
335214
X 4.3,2,1,54

Question ID : 2390878710
Status : Answered
Chosen Option : 3

Q.3 Select the number that can replace the question mark (?) in the following series.

34, 41, 46, 56, 67, 80, ?

Ans X" 1 86
/X 2.91
o 388
X 493

[ Question ID : 2390878736 ]
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Status : Not Attempted and
Marked For Review

Chosen Option : --

Q.4 Uk AERg e (e FgRAd) & i i F gryd RanfAr ek §1e=kiw 1,2, 3,4,5,6,7
TG Sifhd § SR ShATI9R Safeyd gl gl

a) TR 3, @R 4 & ek a13 3R 81

b) €R 2 Teh TRH SR WR § R R 5 3T T A &1
C)R7,M5AR6FFadA I

d) =R 4 =fayoft sk 9 FwRT 81

FT AR, R 5 F 31 AR A @2
Ans X1.4
W27
5 36
X 43

Question ID : 2390878734
Status : Answered
Chosen Option : 2

Q.5 ugl &t sy R g & fSimenT ergeRon |, 11, 11 3R IV 9 wiferd & =R fAerd ot &hed & ang g g
&1 YT &l T AT §Y, Wt 81 A 3 dR R I a2l @ A & ary ferrur A &, ag
fofa & & fos &t 91/ Frserd sy a1 @ arfdhes &9 @ SR &ea1/a &/81

HYU:
1) 9+t sraf~ar RS &
2) 3o FefAar (33eR) A &

e

1. woft Aafat Perfat (Rer) &
Il T+t Fgefa (eR) Safar &)
Il g =15y ezt (eR) &1
IV 9oft Ry SrafRat &1

Ans X 1 et e IV SREROT AT
of 2. St e (il srgeRor et &
X 3. e e | Sreror et &
75 4. P |, 11 9 111 Srgeor ed &

Question ID : 2390878728
Status : Answered
Chosen Option : 2

Q6 Find the missing number from among the below options.

3 9 ) 202

5 8 9 411

2 2, 8 ?
Ans  of 1122
X 2.123
75 3.213

X 4.212
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Question ID : 2390878742
Status : Not Answered
Chosen Option : --

Q.7 few g gHfieror h T A & AT fT &) Ghal &t RER FEa-T Tfde?

13x7+312+12-35=100
Ans  of 1 +oiR-

X 2.+ 3%
X 3-8k
X 4.-3iRx

Question ID : 2390878743

Status - Not Attempted and
" Marked For Review

Chosen Option : --

Q.8 39 e o1 T TR Sl AR U & ! yehR Haifda & 99 WehR T ug ugs ug 9 Hafda &1

PAIR : IAPR :: CARE :
Ans  of 1 RACE

75 2. ACER
/X 3.CEAR
75 4.ACRE

Question ID : 2390878720
Status : Answered
Chosen Option: 1

Q.9 I AE-TIH T T e, T# 4y QST 21eal & i o) ddiu @, it Ry 71g 2reg-gow & St
ereEt & A gl

et usdarar
Ans  off 1 Surerd : sRdEa
X 2. g R
75 3. <fte: e
X 4w s

Question ID : 2390878719
Status : Answered
Chosen Option : 1

Q.10 F=faf@a Al &t ges arfhar 3R srfyof se & rafeda &3

1. 7 A= g

2. BETEI 3l 3igHe
3. %h.3R. ARIU

4. wfam g@=

5.2, AUTHOM,
Ans X" 1.54,1,2,3

o 254213
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/X 4.54,2,3,1

Question ID : 2390878711
Status : Answered
Chosen Option : 2

Q.11 B &R} & TGS 1 g+ o, foh 517 & &) 71 s1eR-sj@en & R Tl # vurfia favg wind &t
S{TIeT hl gof e &1

n_mlknu_lknum__
Ans X1 m,u,lk

XZ.u,m,k,I

X 3 mukl

J4.u,m,|,k

Question ID : 2390878709
Status : Answered
Chosen Option : 4

Q.12 fem afayor &t ok @ & @t ff, fhe ag 3t ar 3 ok 7t ofiz e & ok g s =
SRR fohe e Y ok g ok @l 21

Ans & 1 zferor
K 2.3
3.t
X oo

Question ID : 2390878729
Status : Answered
Chosen Option: 3

Q.13 fFA=faf@a rssl &t ger aifher ofir sriyuf sha & cafeda w3

1.9TeTeh/aT{eTeRT
2.99%h

3.fg
4.vitg/vier
5.fonenz/fRant
6. asur/asoft

Ans X" 1.51,3,6,2,4
X 2.2,1,56,34

/X 3.54,63,2,1

o 4315624

Question ID : 2390878712
Status : Answered
Chosen Option : 4

Q14 3 frer #1 9w Y foredt & 78 angfay Hafifea 1 (feraor 1 sl 7 7))

s S

Ans
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X2

xs (A
7

Question ID : 2390878750
Status : Answered
Chosen Option : 4

Q.15 39 H&ET-giH T 99 &3, fTH & 71 giAT st & ot adl 9y g, sit iy 7q demn-gm i
a1 deareit & i 8l

35:280
Ans " 1.37:730

of 2.53:424

/X 3.42:225

7 4.45:504

Question ID : 2390878740
Status : Answered
Chosen Option : 2

Q.16 Qe fAf3e e smaT |, AUGUST @t VWAEQU & w4 # forar sirar &1 S+t e ot # VERBAL &t
fore =u # forar smemm?

Ans X" 1 NIEPBP
75 2. NHEPAP
o 3. NEHPAP

/5 4.NEIPBP

Question ID : 2390878724

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.17 af¥ NATURE @&t 80 & &4 # 3R VIABLE &} 52 & &0 & geag; fawan oirar 2, @t LAPTOP &t &
fora wu | geag forar smgm?

Ans X" 1 88
W 2.8
/X 3.85
/X 4.86
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Question ID : 2390878726
Status : Answered
Chosen Option : 2

Q18 =7 fyew o I X s & 7 gl ARl ¥ (Rewor B wgEfy 78 T)

Ans

Question ID : 2390878748
Status : Answered
Chosen Option : 4

Q.19 39 farehred o1 T+ o Sit iR U & S UehR Hafdd g 99 ueR g1 ug ugw ug 9 S&6fda g1
UNDER : VPDDP : : HOUSE : ______
Ans X" 1.1QRUF
/< 2.1QUCR
o 3.1QURC
/5 4.QIURC

Question ID : 2390878722
Status : Answered
Chosen Option : 3

Q.20 39 -G T TG Y, forad g g g ereet & A= adh Feiw &, it Ry g 2reg-gm & g
o1l & f = 21

o= . |
Ans X" 1 fig e : Rig
75 2. Rt Riceht a1 s
X 3. e e
W 4 g @) e

Question ID : 2390878718
Status : Answered
Chosen Option : 4

Q.21
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TF FEIST F I T T A 3R Fer T ¢ 3w O o o @ o W Ow e R

J>
:ri‘,“

RIEN
R

Ans

=
KK

VN
fS. L
ARV

AN
X4
G

Question ID : 2390878752
Status : Answered
Chosen Option : 2

Q.22 Select the option that can replace the question mark (?) in the following series.

B,C,GRFE?

Ans  of 1 E
Xo2F
X 3D
X 46

Question ID : 2390878706

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.23 U fihed & qoW sheTerR] dht W Afge serepl di @ 9 = 7 g1 FefafR@a d S &=
o Tize fhew # shetTe™l Y et SieeT ot ufafafdre el e TRt 87

Ans "1 44
242
X 3.40
X 448

Question ID : 2390878745
Status : Answered
Chosen Option : 2

Q.24 IUS] % Soheila a9 Y uett i 7F Y gerete 3 H G 1 gl g 8, Sah gopetdt g
Tl &1 g Y Af o1 T Ieg S a1y fra wa A g2
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Ans X 1 areh/amed/gen
KX 2.7
X 3.3
V&S

Question ID : 2390878732
Status : Answered
Chosen Option : 4

Q.25 Select the option that can replace the question mark (?) in the following series.

C,D,G,L,S,B,?

Ans X1y
X 2N
3w
X 4u

Question ID : 2390878705
Status : Answered
Chosen Option : 3

Q.26 I AsE-GIH I TG e, (ITH 47 79 ST 2real o offa agh Seiw g, St 3y g ereg-gmw & a1
ereEt & AT gl

o1 -faifeheer : gifven(ad)
Ans X1 1 ReeRR/ &1 @R arelt
< 2. i R - Yy
/X 3. s gwH
of 4 G e

Question ID : 2390878717
Status : Answered
Chosen Option: 4

Q.27 39 faehed o1 9g+1 o St IR g @ I} HehR Hafda @ 9 uehR gERT ue uge o @ H6fda @1

BROAD : RBNDA :: SPEED:
Ans X" 1 EDDSP

o 2. PsDDE

/< 3.SPDED
75 4.PDSDE
Question ID : 2390878721
Status : Answered
Chosen Option : 2

Q.28 'HUTEeH 'R’ ¥ I YR H<ifdd @ T uerrR '\=i' ' ' G Hefdd &1
Ans X1 e

< 2. wfR

VR
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X 4.wd

Question ID : 2390878714
Status : Answered
Chosen Option: 3

O ST 39 3N T ST FT AT W FT 3T &
= B v By F 7 57 &89% F4r e 27

A X g Fft faere FafeEs St s §
X2 g mf s gifas S aRdT §
X 3 F mefr foew Rfecas ot aifas =6 &
v i T Tl e e & TeE e §

Question ID : 2390878754
Status : Answered
Chosen Option : 4

Q.30 Rw v AR (Feot) F CUAEF HATT FY AN IH HEAT 1 9GS B, S 36 F 997 FEedA () F
T W 3T TFA B

9 26 79
6 17 52
11 32 ?

Ans X169
W 297
/X 3.9
X 4.79

Question ID : 2390878741
Status : Not Answered
Chosen Option : --

Q.31 Qe fAfgya e smur &, MAIDEN @t QEOHIR & %u # forar sirer 81 I+t ge “imar & NATURE it
forg =u A forar srem?

Ans X" 1 REAXVI
75 2. REXVAI
o 3. REXAVI

75 4 REXEVI
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Question ID : 2390878723
Status : Answered
Chosen Option : 3

Q.32 39 faehea o1 T+ o St R=rfaf@ sjaen 7 usr Rig (?) &t ufasafa o= gwar gl
JZJ, LXL, NVN, ?

Ans X" 1 NTP

X 2.MTN
75 3.NTN
o 4pTP

Question ID : 2390878707
Status : Answered
Chosen Option : 4

Q.33 Select the option that can replace the question mark (?) in the following series.

F2A, E4C, D6E, C8G, ?
Ans X" 1 T13H

o 2.B10i
/X 3.c10d
X 4.B11J

Question ID : 2390878708
Status : Answered
Chosen Option : 2

Q.34 Select the option that is related to the third number in the same way as the second number
is related to the first number.

72:25::92:?

Ans  of 1 49
X 2.36
/< 3.64
X 481

Question ID : 2390878738

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.35 'SIeT' 'SCAT & I UepR S & o v Rreium ' & H&fda @1
Ans  of 1 o

75 2. smaeH

X 383

75 4. gmar

Question ID : 2390878715
Status : Answered
Chosen Option: 1



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

Q.36 If WORD is coded as 2416195 and CARE is coded as 42196, then how will SKIT be coded?
Ans X" 120111021

o 220121021
/< 3.20121020
75 419121021

Question ID : 2390878725
Status : Answered
Chosen Option : 2

Q.37 gt &t &y a1 & fSirent srgarun | 8k 11 & wifera 3t s a=a &1 wuel ot aea 9 g,
Wt gt 2 3H R WR AT a4t @ A= g, ag Fofa & for o /8 e sut @ aiffes w0 @
STEROT a1/ /&

HYA:
1) o Hifeat awmes g
2) 9+t TTES 98 &1

e
1. 9oft 98 Twmes €
I o fifeat 9g &

Ans X" 1. et e | SIgEROT @Al 81
of 2. e P 11 ergeRor aRa 21
75 3.7 Frsemed | R 7 81 11 IrgERoT & B
75 4. T | 3R 11 2T SR e 8

Question ID : 2390878727
Status : Answered
Chosen Option : 2

Q.38 I THEHT-GiH T I0 3, frTH &t 7 giAT st & i adl ddy g, sit g 1g dem-gm i
a1 derett & i &1

12:729
Ans X" 1.11:521

W 29:216
/X 3.13:169
/< 4.8:215

Question ID : 2390878739

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.39 Select the number that can replace the question mark (?) in the following series.

5,7,18, 51, 69, ?
Ans  of 1 342

/X 2.344
/X 3.345
/X 4.343

Question ID : 2390878737
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Status : Not Answered
Chosen Option : --

Q.40 Qe Gag Har @ & A A v Rerer @ smwA-amw= ekt qa 39+ 3 o Qe i srn
I (it &) &1 31X ot 1 e fore Ram Y ok Hg wedh @St ofi?

Ans X1 3w
o 2.z
X 3
/X 4.ufgm

Question ID : 2390878730
Status : Answered
Chosen Option : 1

Q.41 sfturg = gt ok ag Sruft AT & geheita W & a2 Y AT ot w19 & A a1 shurg Rras e ar?
Ans X 1 Ry

75 2. arhy/mred/gan

X 3w

W 2 @A

Question ID : 2390878731
Status : Answered
Chosen Option : 4

Q42 F 1% gy &1 3w B F 290 ofF 1 97w w TFd o9 AEE F o W @

Ans

Ko

p gk}

4| ob| |
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Question ID : 2390878751
Status : Answered
Chosen Option : 2

GET IT ON

Google Play

Q.43 Arrange the following words in the order in which they appear in an English dictionary.

1. Rapid

2. Ranger

3. Ransack

4. Randomization
5. Reality

Ans X" 1.4,521,3
/X 2.4,2,53,1
X 3.4251,3
o 442315

Question ID : 2390878713
Status : Answered
Chosen Option : 4

Q44 g 37 Mm@ & 9U7 FL S BeAfafla ot F @ gey F gEers @ ¥ e B

Ans

F 0

X2

X 3

OO.@

Question ID : 2390878753
Status : Answered
Chosen Option : 4

Q.45 Qe st e (e wgfad)) #, aft ki d grud Rem M sk g1 e=_iwR 1,2, 3,4,5,6,7
Ty sifehd & SR shaTgaR egafeda T8l &1

a) TR 3, @R 4 & ek 213 3R 81
b) &R 2 Teh TRH BR WR § 3R R 5 39 T | &1
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C)R7,R53HR6Hfaa gl
d) =R 4 Zfaroft sk @ AR 2

T 91 TR ARG e (s FRd) & o7 2 & oremar A R wR 4 82
Ans X" 1.6
K27
X 3.4
o 41

Question ID : 2390878733
Status : Answered
Chosen Option : 4

Q.46 ‘el ‘Renea’ & I ueR Haifda & 99 R 'uaft
Ans “1%—5—(1};17—55)

X 2.9z (emf)

/X 3. % (urfefare)

/X 4. T (@iheE)

'@ Hafda g

Question ID : 2390878716
Status : Answered
Chosen Option : 4

Q.47 91 &1 & FeRil - Tthe, HT IR fiet F et 108 1 =t 7 §) et Ferer H Aef F 3 +h R e
3R Tthg herer A & ofiR Athg wherr Y et @ gt T 7 fiR werer J 1 pret sperer 7 fraht 748 &2

Ans  of 1 54
75 218
/X 3.45
/< 4.81

Question ID : 2390878746
Status : Answered
Chosen Option: 1

Q48 37 famey #1 T FY owd & 7% awgly HafRa &1 (o & wgafy 76 §)

7
X1 @

“[®

Ans
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x| &

Question ID : 2390878749
Status : Answered
Chosen Option : 2

Q.49 Select the number that can replace the question mark (?) in the following series.

5,13,37,77,229,?

Ans X' 1 614
X 2,641
75 3.416
of 4 461

Question ID : 2390878735
Status : Answered
Chosen Option : 4

Q.50 * Tahdl ol age 3R A g g Feftenvor &t wgfera @ex & forg nftrdta et & adt wate &t

T R
340*216*6*10*20*0
Ans X1,+_x+=
K2 s+ -x=
3 -x+=
X4.+—+x=

Question ID : 2390878744
Status : Answered
Chosen Option : 3

Section : General Awareness
Q.1 F9TH e 7 7 & frast Frami o1 GEemor far ar?
Ans X712

23

X 35

X 4.4

Question ID : 2390878767
Status : Answered
Chosen Option : 2

Q.2 fone Iret-dier A EeRTe #iR a1 fAwfor sharar ar?
Ans XLW

W 2=

/X 3.y

75 4.9
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Question ID : 2390878793
Status : Answered
Chosen Option: 1

Q.3 uRd HfuT & ford srgede A Hifores Sifreprt 1 aofa 2
Ans "1 9157
X 210208

X 311308
of 412358

Question ID : 2390878801
Status : Answered
Chosen Option : 4

Q.4 £ 2019 &, g R A &: 62 aa g Gt 17 Yo & arg Rt &1 2R1 U @ 7eg 8t 7 ot
g i a1 Aifsat A ar?

Ans X 1 i 3T g

o 2. st
/X 3. wiéEe

X 4 hadg

Question ID : 2390878760
Status : Answered
Chosen Option : 2

Q.5 Ay o g Fan (Samd & def F) G- orgr fra 3 A @2
Ans X" 1 i g oife &

o 2 =ad

X 3.owd

X 4 Rt d

Question ID : 2390878790
Status : Not Answered
Chosen Option : --

Q.6 fFe= gt ut o6 At veref <t urwuret @ fAfda g &, it sifdrrsa ofik sifammaft Fwfor @ &2
Ans X1 QS it

5 2 g

75 3. T TR

o 4 S dea

Question ID : 2390878780
Status : Answered
Chosen Option : 4

Q.7 1905 ® STt =q & faaTs i givor foraa &Y oft?
Ans  off 1 Gt aei
75 2.t adedeT A
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75 3.« e A
X 4 AR

Question ID : 2390878792
Status : Answered
Chosen Option : 1

Q.8 31 7% 2019 &l ¥R A forw A anforsa auT Ieilv #H3ft T U WR oI u1?
Ans X" 1. fsfer o 3

p R

75 3. arrie s A

o 2. dgw e 3

Question ID : 2390878764
Status : Answered
Chosen Option : 4

Q.9 Which law states, “At constant temperature the volume of a given mass of a dry gas is
inversely proportional to its pressure.”

Ans X" 1. Charles’ law
X 2. Gay Lussac’s law
x 3. Avogadro’s law

( 4. Boyle's law

Question ID : 2390878771
Status : Answered
Chosen Option : 4

Q.10 Which of the following is not an isotope of the element Hydrogen?
Ans X" 1. Deuterium

#< 2. Tritium
J 3. Radium
#< 4. Protium

Question ID : 2390878773
Status : Answered
Chosen Option: 3

Q.11 Rt Rerd da (Rerd o it $f3am) Pafaf@a & @ fra o= ge @ ag= 78 @t &2
Ans X" 1. st (Aidh) B surd

X 2. Fferfiedt @ e

7K 3. iferdl donl GRT TRHRY GG Bt GHTer o forg 372 R S arer sz

W 4 wER A R

Question ID : 2390878763
Status : Answered
Chosen Option : 2

Q.12 ugfearat & FafafEa d @ i 91 Iueur g ae & SR i axgei &t 3w & g win
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Ans X 1. urgferdiviey

Question ID : 2390878772
Status : Not Answered
Chosen Option : --

Q.13 SrfaAfea ifAemreit aret srfdepier dlert A ag Fdes glar & St uid & 37 wri & uran

STt & STgt gfeg it Sumasn gt g1
Ans X" 1 a7 (SEer)
o 2. frditaes (ARe)
75 3. TRV Fcieh (ehTeATehIgH)
K 4. Tge (ehTE)

Question ID : 2390878781
Status : Answered
Chosen Option: 3

Q.14 Skeletal muscles are attached to the skeleton by tough connective tissues called
Ans ( 1. Tendons

x 2. Cartilage
X 3. Ligament

x 4. Neurons

Question ID : 2390878779
Status : Answered
Chosen Option : 1

Q.15 e R AT Aiares sieiaa e 231 o ufafAfRa w=a §2
Ans X" 1 et e

Jziqﬁmﬁm

/X 3. Tgeh g AR B

75 4. sirefer

Question ID : 2390878804
Status : Answered
Chosen Option : 2

Q.16 WRd & fohd Irog & A9y o1 defeeres It TG @ I e faeneaw g1 fea g2
Ans X 1 qftrerrg &

W 2 merE A

/X 3. e d

75 4w d

Question ID : 2390878788



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

Status : Not Answered
Chosen Option : --

Q.17 79 & 1 Sifaes srearaTeY favem =gl &7
Ans Jmaqsﬂu?u?

/X 2. @

75 3. e

X 4. JA(=E TeeR)

Question ID : 2390878784
Status : Not Answered
Chosen Option : --
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Question ID : 2390878776
Status : Answered
Chosen Option : 1
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Ans X 1.6.6%
< 2.52%
/X 3.5.9%
W 462%

Question ID : 2390878765
Status : Answered
Chosen Option : 4

Q.20 Qe o1 TETafe I3 @ 82
Ans  of 1 (CHj),CO

7< 2. (CHy)20

/5 3.(CH3)CO

X 4. (Ha),c0

Question ID : 2390878770
Status : Answered
Chosen Option : 1

Q.21 F=fafE@a 7 @ @ gaie Tdie?
Ans X1 SmidE

7< 2. s
o 3. R
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Question ID : 2390878775
Status : Answered
Chosen Option : 3

Q.22 1739 # TAT &1 g AR Mg 3R F=fafEa 4 9 frads diw aer mar ur?
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Question ID : 2390878791
Status : Not Answered
Chosen Option : --
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Ans X 1 R RefiReea

X 2. amRe fde

/< 3. A

of 4.3 A

Question ID : 2390878796
Status : Not Answered
Chosen Option : --

Q.24 Which of the following elements is NOT among the six elements common to all living
organisms?

Ans x 1. Oxygen
X 2. Hydrogen
o 3.zinc
X 4. Carbon

Question ID : 2390878768
Status : Not Answered
Chosen Option : --
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Question ID : 2390878757
Status : Answered
Chosen Option : 2
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Question ID : 2390878789
Status : Not Answered
Chosen Option : --
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Question ID : 2390878798
Status : Answered
Chosen Option : 2
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Question ID : 2390878778
Status : Answered
Chosen Option : 2
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Question ID : 2390878769
Status : Answered
Chosen Option: 2
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Question ID : 2390878782
Status : Answered
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l Chosen Option : 4 J
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Question ID : 2390878802
Status : Not Answered
Chosen Option : --
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Question ID : 2390878759
Status : Answered
Chosen Option : 3

Q.33 What technology is bitcoin built on?
Ans o 1.Blockchain

x 2. Data mining
x 3. Data warehousing

x 4. Enterprise resource planning

Question ID : 2390878756
Status : Answered
Chosen Option : 3

Q.34 Q.&. (gt Sifai/AD) g #.4. (CE) +ft shgermar 81 #1.4. (CE) o1 yof wasu r 87
Ans X" 1. e Q1 (G e
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Question ID : 2390878795
Status : Answered
Chosen Option : 1

Q.35 The Original Indian Constitution had ___ Parts and 395 Articles.

Ans " 1.20
o 222
/X 3.35
75 4.40
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Question ID : 2390878799
Status : Answered
Chosen Option : 2
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7< 3. gemuam R 3

of 4. < emitareTET &

Question ID : 2390878794
Status : Not Answered
Chosen Option : --
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Question ID : 2390878803
Status : Not Answered
Chosen Option : --
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75 3. oo e &
/X 4. Ao &

Question ID : 2390878787
Status : Answered
Chosen Option : 2

Q.39 fFr=fafEa 4 & fram wRa 7 a9 @ S e R am?
Ans X" 1 @ a1ge TRHR @F A

of 2. s srege e s
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Question ID : 2390878797
Status : Answered
Chosen Option : 1

Q.40 What is the set of instructions forming a program which is executed by a computer called?
Ans X 1 syntax

X 2. Error
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x 3. Language

( 4. Code

Question ID : 2390878755
Status : Answered
Chosen Option : 1
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Question ID : 2390878786
Status : Answered
Chosen Option : 4
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Question ID : 2390878783
Status : Answered
Chosen Option: 3
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Question ID : 2390878761
Status : Not Answered
Chosen Option : --
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Question ID : 2390878758
Status : Answered
Chosen Option : 1
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Question ID : 2390878785
Status : Not Answered
Chosen Option : --

Q.46 What is the finger-like, blind-ended tube connected to the cecum known as?
Ans X" 1 Rectum

x 2. Duodenum
J 3. Appendix

x 4. Colon

Question ID : 2390878777
Status : Answered
Chosen Option: 3

Q.47 3T 2019 # i+ & FRAATE Fitches & T & Fual & g & HROT I A1 gars 1T
@kl fe & foIg sig wg1?

Ans  of 1 g
X 2. 7ot
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Question ID : 2390878762
Status : Not Answered
Chosen Option : --

Q.48 What words combine to form ‘smog’, a form of air pollution?
Ans X" 1.Smock and Fog

X 2. Smear and Flog
J 3. Smoke and Fog

X 4. Smoke and Bog

Question ID : 2390878766
Status : Answered
Chosen Option : 3

Q.49 uTXd ¥ uget 31 A1 & gQ A?
Ans X" 11952538

/X 2.1948-49 %

o 3195152

75 4.1947-48 %

Question ID : 2390878800
Status : Answered
Chosen Option : 3
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8 J

Q.50 What is a quantity or phenomenon that has two independent properties: magnitude and
direction, called?

Ans X" 1. Measurement

J 2. Vector
x 3. Scalar

X 4. Standard unit

Question ID : 2390878774
Status : Answered
Chosen Option : 2

Section : Part C General Engineering Mechanical

Q.1 The ratio of brake horsepower to indicated horsepower of an IC engine is called:
Ans  of 1. mechanical efficiency

#< 2. thermal efficiency

/< 3. volumetric efficiency

< 4 relative efficiency

Question ID : 2390878629
Status : Answered
Chosen Option : 1

Q2 1n reciprocating air compressors, the clearance ratio is:

Ans 3 1. swept volume to clearance volume of the cylinder
+ 2 clearance volume to swept volume of the cylinder
/< 3. clearance volume to total volume of the cylinder

/< 4. total volume to clearance volume of the cylinder

Question ID : 2390878654
Status : Answered
Chosen Option: 2

Q.3  If the temperature of the hot reservoir is increased, the efficiency of the Carnot engine:

Ans X 1. decreases

/< 2. does not change
/< 3. will be equal to the efficiency of the practical engine

v 4 increases

Question ID : 2390878621
Status : Answered
Chosen Option : 4

Q4 The chemical formula of R717 is:

Ans
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Question ID : 2390878661
Status : Answered
Chosen Option: 3

Ans X 1. nozzle
#< 2. turbine
#< 3. boiler
o 4 pump

Q.5 The hydraulic machine that converts mechanical energy into hydraulic energy is called a:

Question ID : 2390878692
Status : Answered
Chosen Option : 4

Q6  Change in internal energy of a system is zero if

Ans

« 1. temperature
< 2 work
/< 3. entropy

/< 4. mass

i3 constant.

Question ID : 2390878617
Status : Answered
Chosen Option : 1

Ans X 1. ductility
2 brittleness
/< 3. malleability

/< 4. elasticity

Q.7 The property of a material to break suddenly with little or no deformation is known as:

Question ID : 2390878612
Status : Answered
Chosen Option : 2

Q8  The principal alloying element of stainless steel is:
Ans  of 1. chromium

# 2 carbon

#< 3. silicon

/X 4. manganese
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Question ID : 2390878701
Status : Answered
Chosen Option : 1

Q9 Triple point is where:

Ans X 1. a mixture of dry steam and wet particles exist
< 2
the saturated liquid state and saturated vapour state become identical
X3
the constant temperature line passes through a critical point
« 4 all three phases coexist in equilibrium
Question ID : 2390878616
Status : Answered
Chosen Option : 4
Q.10 The forces on fluid elements are caused by agencies such as gravity and magnetic fields.
Ans " 1. pressure
/< 2 surface
v 3. body
< 4 velocity
Question ID : 2390878673
Status : Not Answered
Chosen Option : --
Q.11 is NOT a property of fluid.
Ans  of 1. Area

< 2. Mass density
/< 3. Specific volume

/< 4. Specific weight

Question ID : 2390878668
Status : Answered
Chosen Option : 1

Q.12 The Kelvin-Planck statement of second law of thermodynamics deals with the conversion of:

Ans X 1. volume
/< 2. mass

/< 3. work into heat
' 4 heat into work

Question ID : 2390878624
Status : Answered
Chosen Option : 4
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Q13 The point of contraflexure lies where:
Ans X 1. bending moment is maximum
+ 2 bending moment is zero
7< 3. shear force changes sign

/< 4. shear force is zero

Question ID : 2390878613
Status : Answered
Chosen Option : 2

Q.14 The basic form of Bernoulli’s equation does NOT consist of which of the following heads?
Ans 1. Pressure head

#< 2 Potential head

' 3 Manometric head

/< 4 Velocity head

Question ID : 2390878684
Status : Answered
Chosen Option : 3

Q15 Usually. boiler rating is defined in terms of

Ans X 1. Rate of heat transfer in KJ/hr
« 2. Steam output in kg/hr

# 3. Heat transfer area in m>

/< 4. Calorific value of the fuel used for combustion

Question ID : 2390878646
Status : Answered
Chosen Option : 2

Q16 T CI engines, the combustion is:

Ans X 1. homogeneous

/< 2. very rich

/< 3. chemically correct

« 4 heterogeneous

Question ID : 2390878628
Status : Answered
Chosen Option : 4

Q17 1 a uniform flow, the velocities of fluid particles:
Ans

/< 1. move in a well defined path
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/< 2. are perpendicular to each other
« 3. do not change with respect to space at any given time

#< 4. are always dependent on time

Question ID : 2390878682
Status : Answered
Chosen Option: 3

Q.18 is NOT a property of a system.

Ans X 1. Specific volume

< 2. Pressure
\f 3. Heat
/< 4. Temperature

Question ID : 2390878618
Status : Answered
Chosen Option : 3

Q19 A rotameter is used to measure of fluids.

Ans < 1. density
v 2. flow rate
/< 3. viscosity

/< 4. rotational energy

Question ID : 2390878688
Status : Answered
Chosen Option : 2

Q.20 Which of the following is a component of the vapour compression refrigeration cvcle?

Ans  of 1. Expansion valve

7< 2. Turbine

< 3. Boiler

< 4 Nozzle

Question ID : 2390878657
Status : Answered
Chosen Option : 1

Q.21

Piezometers are used to measure

Ans  of 1. gauge pressure
/< 2. viscosity of the fluid
< 3. velocity of the flow
/< 4. temperature
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Question ID : 2390878676
Status : Answered
Chosen Option : 1

Q22 A Rankine cycle consists of:

Ans J 1.

two isentropic processes and two constant pressure processes

X 2

two isothermal processes and two constant pressure processes

X3

two isentropic processes and two constant volume processes

F

two isothermal processes and two constant volume processes

Question ID : 2390878636
Status : Answered
Chosen Option : 1

Q23 A domestic refrigerator works on the:

Ans 1. air refrigeration cycle
/< 2. steam jet refrigeration cycle
« 3. vapour compression refrigeration cycle

/< 4. vapour absorption refrigeration cycle

Question ID : 2390878656
Status : Answered
Chosen Option : 3

Q24 The overall efficiency of a hydraulic turbine is the ratio of the:
Ans 1. water power to the shaft power
/< 2. shaft power to the bucket power
« 3. shaft power to the water power

#< 4. bucket power to the shaft power

Question ID : 2390878696
Status : Answered
Chosen Option : 3

Q25 Addition of Sulphur to stainless steel increases which of the following?

Ans X 1. Corrosion resistance

< 2. Wear resistance
+ 3. Machinability

/< 4 Hardness
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Question ID : 2390878700
Status : Answered
Chosen Option : 3

Q26 The compression ratio of an IC engine is defined as:

Ans Swept volume

vi1+

Clearance volume
Clearance volume

Swept volume

Swept volume

Clearance volume

Clearance volume

p

Swept volume

Question ID : 2390878627
Status : Answered
Chosen Option: 1

Q.27 Which of the following is NOT a type of water-cooled condenser related to refrigeration plant?

Ans  of 1. Natural convection
#< 2. Shell and tube type condenser
/< 3. Shell and coil type condenser
75 4. Tube-in-tube condenser
Question ID : 2390878663
. Not Attempted and
Statlist Marked For Review
Chosen Option : --
Q.28

Commercial ice plants work on

Ans X 1. Vortex tube
#< 2. Vapour absorption cycle

+ 3. Vapour compression cycle

/< 4. Pulse tube refrigeration

Question ID : 2390878664
Status : Answered
Chosen Option : 3

Q29 wWhich of the following is NOT a component of a centrifugal compressor?
Ans X 1. Casing

/< 2 Radial vanes

/< 3. Impeller
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« 4 Piston

Question ID : 2390878655
Status : Answered
Chosen Option : 4

Q30 The commonly used refrigerant in domestic refrigerators is :
Ans  of 1. R 134a

/< 2. Nitrogen

~< 3. COy

< 4 Ammonia

Question ID : 2390878660
Status : Answered
Chosen Option : 1

Q.31 Volumetric efficiency of a reciprocating compressor is NOT dependent on which of the following factors?
Ans  of 1. Air receiver

#< 2. Pressure ratio

/< 3. Clearance ratio

/< 4. Polytropic index of compression

Question ID : 2390878653
Status : Answered
Chosen Option : 1

@32 wWith a decrease in pressure the boiling point of water will:

Ans X 1. remain the same
/< 2. increase
W 3. decrease

/< 4. first increase and then decrease

Question ID : 2390878615
Status : Answered
Chosen Option: 3

Q33 Which of the following is an imaginary fluid?

Ans 3 1. Real fluid
#< 2. Newtonian fluid
#< 3. Non-Newtonian fluid
v 4 Ideal fluid

Question ID : 2390878670
Status : Answered
Chosen Option : 4
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Q.34 Which of the following device used for the measurement of flow rate through a circular pipe with the least loss of
energy and direct readings?

Ans 1. traversing a pitot-static probe
#< 2. anotch
#< 3. an orifice meter

' 4 aventurimeter

Question ID : 2390878689
Status : Answered
Chosen Option : 4

Q.35 The difference of the pressure head (h) measured by a differential U tube manometer used for the measurement of
difference in pressure of an oil flowing through a pipe is given by which of the following equation?.

Where, S,= Specific gravity of the monometric liquid (mercury). S, = Specific gravity of oil. x= deflection of the

mercury level
Ans ¢ 1 =By, 8
X 2 H=x[i45, /5]
X3 h=x(5,-S,)
Vi h=x[(Sp/Se)— 1)]

Question ID : 2390878678
Status : Answered
Chosen Option : 4

Q36 Which of the following is a single tube boiler?

Ans o 1. Cornish boiler
#< 2. Babcock and Wilcox boiler
#< 3. Locomotive boiler
#< 4. Cochran boiler

Question ID : 2390878644
Status : Answered
Chosen Option : 2

Q37 1n a throttling process:

Ans 1. pressure remains the same
/< 2. entropy remains the same
« 3 enthalpy remains the same

/< 4. internal energy remains the same

Question ID : 2390878620
Status : Answered
Chosen Option : 3

Q38 M\fild steel belongs to which of the category?
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Ans 3 1. No carbon steel
' 2. Low carbon steel
#< 3. Medium carbon steel
/< 4. High carbon steel

Question ID : 2390878704
Status : Answered
Chosen Option: 2

Q.39 A qank is containing water up to a height of 2 m. Calculate the pressure at the bottom of the tank in N/m?

Ans  of 1. 19620

< 2 196.2
< 3 1.962
< 4 19.62
Question ID : 2390878675
Status : Answered
Chosen Option: 1
Q.40 is defined as the amount of dry saturated steam generated from feed water at 100 ° C at normal atmospheric

pressure.

Ans o 1. Equivalent evaporation
/< 2. Drvness fraction
/< 3. Boiler thermal efficiency
/< 4. Degree of superheat
Question ID : 2390878645
. Not Attempted and
Sjetus ; Marked For Review
Chosen Option : --
Q41 The air refrigeration system works on the
Ans

/< 1. vapour compression cycle
« 2 Bell-Coleman cycle

7% 3. Rankine cycle

/< 4. Carnot cycle

Question ID : 2390878658
Status : Answered
Chosen Option : 2

Q42 For the same compression ratio, the thermal efficiency of an Otto cycle:

Ans 3 1. is the same as that of a diesel cycle

' 2. is greater than that of a diesel cycle
X 3
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first decreases and then remains the same as that of a diesel cycle

7< 4. is less than that of a diesel cycle

Question ID : 2390878625
Status : Answered
Chosen Option : 2

Q43 The main constituent of ferrous metals is:
Ans x 1. zine

« 2 iron
/< 3. copper
< 4 lead
Question ID : 2390878703
Status : Answered
Chosen Option : 2
Q.44 The common lubrication system used in IC Engines of an automobile is called the system.

Ane K. gravity
« 2. pressure
/< 3. petroil
/< 4. splash

Question ID : 2390878634
Status : Answered
Chosen Option : 4

Q45 wWhat do you mean by a streamline?

Ans X 1. drawn normal to the velocity vector at any point

v &)

A tangent drawn at any point that gives the direction of velocity vector at that point

X 3

A line that connects points of equal velocity in a flow field

/< 4. A line that connects midpoints of a flow cross-section

Question ID : 2390878680
Status : Answered
Chosen Option : 2

Q46 The forces whose line of action lie along the same line are known as:

Ans o 1. collinear forces
/< 2. coplanar concurrent forces

/< 3. coplanar non-concurrent forces

/< 4. coplanar parallel forces
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Question ID : 2390878609
Status : Answered
Chosen Option: 1

Q47 Which of the following is a major loss in pipes?
Ans 1. Sudden contraction of the pipe

#< 2. Bend in the pipe

/< 3. Sudden enlargement of the pipe

' 4 Friction losses

Question ID : 2390878685
Status : Answered
Chosen Option : 4

Q.48 A boiler produces 1000 kg/hr steam with rise in enthalpy of steam of 2500 KI'kg. The calorific value of coal used is
30000 KJ'kg and its consumption is 100 kg/hr. What would be the boiler efficiency?

Ans X1, 73.33 %
X2 833%
< 3 18.33 %
W 4 83339%

Question ID : 2390878647

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q49 A notch is a device used for measuring:

Ans X 1. rate of flow through a pipe
« 2 rate of flow through a small channel
/< 3. flow velocity through a pipeline
/< 4. flow velocity through a small channel

Question ID : 2390878687
Status : Answered
Chosen Option : 2

Q.50 The air-standard efficiency of an Otto cycle is given by which one of the following equation?. Where r, is the

compression ratio, y = adiabatic index

Ans 1
XL 1+F
<2 Z—L_l

¥
T

1
X s 1—F
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Question ID : 2390878626
Status : Answered
Chosen Option : 4

1 oNm2 is equal to:

Ans o' 1. 1.0Pa
X< 2 1.0kPa
< 3. 1.0 MPa
< 4 1.0 bar

Question ID : 2390878671
Status : Answered
Chosen Option: 1

Q52 wWhich of the following is a type of high-pressure boiler?

Ans 1. Lancashire boiler
#< 2. Locomotive boiler
#< 3. Cornish boiler
v 4 Velox boiler

Question ID : 2390878643
Status : Answered
Chosen Option : 1

Q53 1p a reversible process. the entropy of a system

Ans 1. first increases and then decreases

v 2. remains the same

/< 3. increases

X 4 decreases

Question ID : 2390878622
Status : Answered
Chosen Option : 2

Q54 At sea level, the value of atmospheric pressure is close to:
Ans

#< 1. 1000 metres of water column
#< 2. 1 metre of water column

#< 3. 100 metres of water column
' 4 10.33 metres of water column

Question ID : 2390878674
Status : Answered
Chosen Option : 4
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Q.55 The work input of a compressor is minimum when the law followed by compression is:
Ans X1 pyl2S—c

v 2. jsothermal PV =C

< 4 isentropic PV 7/ =C

Question ID : 2390878651
Status : Answered
Chosen Option : 2

Q56 The gas constant (R) is equal to the:
Ans < 1. ratio of two specific heats

#< 2. sum of two specific heats

/< 3. product of two specific heats

« 4 difference between two specific heats

Question ID : 2390878619
Status : Answered
Chosen Option : 4

Q57 Ap impulse turbine requires:

Ans 1. high head and large quantity of flow
/< 2. low head and large quantity of flow
7< 3. low head and small quantity of flow
« 4 high head and small quantity of flow

Question ID : 2390878695
Status : Answered
Chosen Option : 4

Q.58 The critical pressure ratio of a convergent nozzle is defined as the ratio of the:

Ans x 1.

outlet pressure to the inlet pressure of the nozzle only when mass flow rate per unit area is minimum

v &)

outlet pressure to the inlet pressure of the nozzle only when mass flow rate per unit area is maximum

/< 3. inlet pressure to the outlet pressure of the nozzle

/< 4. outlet pressure to the inlet pressure of the nozzle

Question ID : 2390878666
Status : Answered
Chosen Option : 2

@59 1n a Rankine cycle, the work output from a turbine is a change:
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Ans 3 1. in internal energy between the inlet and outlet
/< 2. in entropy between the inlet and outlet

< 3. in volume between the inlet and outlet
« 4 of enthalpy between the inlet and outlet

Question ID : 2390878637
Status : Answered
Chosen Option : 4

Q.60 What will be the specific enthalpy of steam at pressure of 2 MPa and dryness fraction of 0.97

[Where, properties of steam at 2 MPa are: specific enthalpy of saturated liquid = 900 kY'kg, specific enthalpy of
saturated vapour = 2800 kl'kg.]

Ans X 1. 2500 kI/kg
X 2. 2570 kI/kg
X 3. 2680 kl/kg
W 4 2610 kl/kg

Question ID : 2390878614
Status : Answered
Chosen Option : 4

Q61 Which of the following is a boiler accessory?

Ans X 1. Blow-off cock valve

W 2 Air preheater
/< 3. Safety valve

/< 4. Steam stop valve

Question ID : 2390878649
Status : Answered
Chosen Option : 2

Q.62 Which of the following is an advantage of the liquid cooling system as compared to air cooling system for an IC
Engine?

Ans X" 1. ILow cost

/< 2. Power absorbed by the pump is considerable

+ 3 Uniform cooling

/< 4 Light in weight

Question ID : 2390878633
Status : Answered
Chosen Option : 2

Q63 Which of the following is a type of fire-tube boiler?
Ans o' 1. Cochran boiler
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< 2. Yarrow boiler
/< 3. Babcock and Wilcox boiler
7< 4. Stirling boiler

Question ID : 2390878642
Status : Answered
Chosen Option : 1

Q64 Considering frictional effects, the isentropic fluid flow becomes:

Ans 1. reversible adiabatic flow
V' 2 irreversible adiabatic flow
X 3. ideal fluid flow
< 4. perfect gas flow

Question ID : 2390878623
Status : Answered
Chosen Option : 2

Q.65 The maximum amount of carbon present in low carbon steel (mild steel) is:
Ans X 1. 304

X 2 5%

v 3 0.3%

X 4 4%

Question ID : 2390878702
Status : Answered
Chosen Option : 3

Q.66 Subcooling is a process of cooling the refrigerant in the vapour compression refrigeration system:

Ans X 1. before compression
/< 2. after the expansion valve
o 3. before the expansion valve

#< 4. after compression

Question ID : 2390878662
Status : Answered
Chosen Option: 3

Q67 1 aminar flow is also called a/an:
Ans 1. ideal flow

< 2. adiabatic flow

' 3 stream line flow

/< 4. steady flow

[ Question ID : 2390878683 ]
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Status : Answered
Chosen Option : 3

Q.68 In CI engines the ignition delay period is counted from the start of injection to the:

Ans (1.

point where the pressure-time curve separates from the motoring curve
#< 2. start of after burning

/< 3. end of combustion

/< 4. start of controlled combustion

Question ID : 2390878632

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.69 Two parallel forces equal in magnitude, opposite in direction and separated by a definite distance are said to form a/an:

Ans 1. resultant
/< 2. equilibriant
W 3 couple
#< 4 shear force

Question ID : 2390878610
Status : Answered
Chosen Option : 3

Q70 Which of the following is NOT a component of a centrifugal pump?

Ans  of 1. Draft tube
/< 2. Casing

/< 3. Rotating impeller
& 4 Guide vane

Question ID : 2390878699
Status : Answered
Chosen Option : 1

Q71 The jet ratio of a Pelton wheel is:

[Where, D = Pitch diameter of pelton wheel, d = Jet diameter]
Ans 2

< ()

d
K2
D

< ()



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

D

Question ID : 2390878694
Status : Answered
Chosen Option : 4

Q72 The most important property of a lubricant is its:
Ans  of 1. viscosity

/< 2. pour point

#< 3. thermal stability

/< 4. flash point

Question ID : 2390878635
Status : Answered
Chosen Option : 3

Q.73 In the ammonia-water vapour absorption refrigeration cycle, the refrigerant used is:
Ans X1 R-22

#< 2. brine

v 3. NH;

< 4 water

Question ID : 2390878659
Status : Answered
Chosen Option : 3

Q.74 A closed vessel in which steam is produced from water by combustion of fuel is called a:
Ans  of 1. boiler
# 2 turbine

/< 3. nozzle

/< 4. compressor

Question ID : 2390878639
Status : Answered
Chosen Option : 1

Q.75 The weight density of a fluid to the weight density of a standard fluid is called:
Ans X 1. specific weight

/< 2. specific volume

« 3. specific gravity

/< 4. mass density

Question ID : 2390878669
Status : Answered
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Chosen Option: 3

cross-section.

Q.76 In a conventional Bourdon tube pressure gauge, the elastic element used for converting pressure to deformation is of

In centrifugal pumps, cavitation is reduced by:
Ans o 1. reducing the suction head

/< 2. increasing the flow velocity

/< 3. reducing the discharge

/< 4. throttling the discharge

Ans X 1. triangular

/< 2. square

& 3. circular

W 4 elliptical

Question ID : 2390878677
Status : Answered
Chosen Option : 3

Q.77

Question ID : 2390878698
Status : Answered
Chosen Option : 1

Q78 The smallest section of a nozzle is known as the:
Ans (1. convergent part

< 2 diffuser
/< 3. divergent part
« 4 throat

Question ID : 2390878665
Status : Answered
Chosen Option : 4

Q79 Nathematically, strain is defined as deformation per unit

Ans o 1. length

Ans X 1. pulley

#< 2 |oad
#< 3. volume
< 4 area
Question ID : 2390878611
Status : Answered
Chosen Option: 1
Q.80 While transmitting power through a shaft is used to hold and support the shaft.
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/X 2. gear
« 3. bearing
#< 4 belt

Question ID : 2390878607
Status : Answered
Chosen Option : 3

Q81 WWhich is the first stage of combustion in an SI engine?
Ans 1. Rapid combustion

« 2 Ignition lag

/< 3. After burning

#< 4. Flame propagation

Question ID : 2390878630
Status : Answered
Chosen Option : 4

Q.82 Ina boiler, the device in which the waste heat of flue gases is utilised for heating feed water is called a/an:
Ans o 1. economiser

/< 2. injector
/< 3. superheater

/< 4. air preheater

Question ID : 2390878650
Status : Answered
Chosen Option: 1

Q83 Which of the following is NOT a type of boiler mounting?

Ans 1. Feed check valve
< 2. Water level indicator

/< 3. Pressure gauge

« 4 Superheater

Question ID : 2390878648
Status : Answered
Chosen Option : 4

Q84 Crowning of a pulley is done to:

Ans 1. increase strength of the pulley
« 2 avoid slipping of the belt
/< 3. enable pulley rigidly fixed to the shaft

/< 4. prevent the wear and tear of the belt
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Question ID : 2390878608
Status : Not Answered
Chosen Option : --

Q.85 Which of the following is NOT a factor for selecting a type of a boiler for a particular application?
Ans 1. Fuel and water available

/< 2. Steam generation rate

/< 3. Floor area available
« 4 Climate of the region

Question ID : 2390878641
Status : Answered
Chosen Option : 4

Q86 The continuity equation is based on which of the following?

Ans X 1. conservation of vorticity

' 2. conservation of mass
/< 3. conservation of momentum

/< 4. conservation of energy

Question ID : 2390878681
Status : Answered
Chosen Option : 2

Q87 The hydraulic gradient line of a flowing fluid is represented by:
Ans X 1. pressure head + kinetic head
' 2. pressure head + datum head

# 3. kinetic head + datum head
#< 4. pressure head + kinetic head + datum head

Question ID : 2390878686
Status : Answered
Chosen Option : 2

Q88 The specific speed of the turbine is:
[Where, N = Speed (rpm). P = Power (kW). H = Head (m)]

Ans
v 2l N_ﬁ

52—
X3 NVP
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load conditions.
Ans x 1. gear
« 2. governor
/X 3. gyroscope
< 4 belt

3
g2
Question ID : 2390878693
Status : Answered
Chosen Option : 1
Q.89 The function of a is to maintain the speed of an internal combustion engine within specified limits for varying

Question ID : 2390878605
Status : Answered
Chosen Option : 2

Ans X 1. Bernoulli's law
< 2. Newton’s law
< 3. Darcy’s law

4 Pascal’s law

Q.90 Which is the law that states that the intensity of pressure at a point in a fluid at rest is the same in all directions?

Question ID : 2390878672
Status : Answered
Chosen Option : 4

density of the liquid, a = cross sectional area of the jet, V= velocity of the jet.

Ans X1 paV’
v 2 paV
X3 paV
X 4 pav

Q.91 The force exerted by a jet of water on a stationary vertical plate in the direction of the jet is

Where, p = mass

Question ID : 2390878691
Status : Answered
Chosen Option : 2

Ans X 1. first increases and then decreases

' 2 increases
/< 3. does not affect

/< 4 decreases

Q.92 Increasing the compression ratio in SI engines the detonation tendency.

Question ID : 2390878631
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Status : Answered
Chosen Option: 2

@93 The degree of reaction for Parson’s reaction turbine is

Ans X1 Q.75

V2 05

<30

X 4.0.25

Question ID : 2390878667
Status : Answered
Chosen Option : 2

Q.94

is the platform in a furnace upon which fuel is burnt.

Ans X 1. Shell
v 2 Grate
#< 3. Blowoff cock
/< 4. Accessory

Question ID : 2390878640
Status : Answered
Chosen Option: 1

Q.95 The pulley. which is used to increase the angle of contact, is called a/an pulley.

Ans X 1. loose
#< 2. cross belt
#< 3. fast
v 4 idler

Question ID : 2390878606
Status : Answered
Chosen Option : 4

Q.96 0il is flowing in a pipe of 30 cm diameter with a velocity of 2 m/s. At another section of the pipe, the diameter is 20 cm.
‘What will be the velocity of flow at that section?

Ans X1 7.5 m/s
V2 45m/s
X< 3 6ms
X< 4 3m/s

Question ID : 2390878679
Status : Answered
Chosen Option : 2

Q.97 Which of the following types of impellers is used for centrifugal pumps dealing with water containing slurry and

sewage?

Ans X 1. One-side shrouded impeller
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+ 2. Open impeller
/< 3. Two-side shrouded impeller
7< 4. Double section impeller

Question ID : 2390878697
Status : Not Answered
Chosen Option : --

Q.98 YWhich of the following is a non-positive displacement type of compressor?
Ans o 1 Axial flow compressor

/< 2. Roots blower compressor

7< 3. Sliding vane compressor

/< 4. Screw compressor

Question ID : 2390878652
Status : Answered
Chosen Option : 1

Q99 Regenerative heating the thermal efficiency of a Rankine cycle.

Ans X 1. does not affect
' 2 increases

/< 3. may increase or decrease

/< 4 decreases

Question ID : 2390878638
Status : Answered
Chosen Option : 2

Q100 wwhich of the following is a part of a pelton wheel turbine?

Ans  of 1. Nozzle
#< 2. Draft tube
< 3. Guide blade
/< 4 Wicket gate

Question ID : 2390878690
Status : Answered
Chosen Option: 1
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